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The tests performed on compound X and their inferences are :

Test
(a) 2, 4-DNP test
(b) lodoform test
(c) Azo-dye test
Compound 'X' is :

HSE ‘H"'-N"'f C—HE
COCHs3
(1)

NHz OH

(3) CHa

Inference
Coloured
yellow precipitate
No dye formation

NHz
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Aromatic Compounds

The major product of the following reaction is :

C
@: SNHz (i) Brahv R
CH>CHa (i) KOH (dil)
0 0O
~ ~—NH NH
o1 o Ejl; ®) N @ EIL/NH
CHs3
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The products formed in the reaction of cumene with Oz followed by treatment with dil. HCI are :

Aromatic Compounds

o) CHs
O
(1) @ and )I\ (2) and CHs—OH
HaC CHs
OH OH
O OH

Q and I @ awd A
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An aromatic compound ‘A’ having molecular formula C7 Hs Oz on treating with agueous ammonia and
heating forms compounds ‘B’. The compound B on reaction with molecular bromine and potassium
hydroxide provides compound ‘C" having molecular formula CsH7N. The structure of ‘A’ is:

Aromatic Compounds

CHO

COOH OHC
OH H H=CH-CHO
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Aromatic Compounds
The major product of the following reaction is:
OH
Bry(excess)

SOsH
OH OH OH OH

Br Br Br Br Br

Br Br
OsH r r OzH
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A compound 'X' on treatment with Bro/NaOH, provided CsHgN, which gives positive cabylamine test.
Compound "X' is :

Aromatic Compounds

(1) CHsCOCHzNHCHj5 (2) CH3CON(CHz3):2
(3) CHaCH2COCHzNH: (4) CHaCH2CH2CONH:
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Aromatic Compounds

The major product of the following reaction is:
HsC i) NaNO,/H* i
r \O/\/\N (i) CrOs/H”®
(i) H2S04(Conc.),A
(1) CHs\g/ &
CH O
" TIR ! @
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Coupling of benzene diazonium choloride with 1-naphthol in alkaline medium will give :

Aromatic Compounds

OH
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Aniline dissolved in dilute HCI is reacted with sodim nitrite at 0°C. This solution was added dropwise to a

solution containing equimolar mixture of aniline and phenol in dil. HCI. The structure of the major product
is:

Aromatic Compounds
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Ethylamine (CzHsNH:z) can be obtained from N-ethylphthalimide on treatement with :

Aromatic Compounds

(1) CaHz (2) H20 (3) NH2NH: (4) NaBH4
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Aromatic Compounds

The major product of the following reaction is :

HO 1. CrOs

2. SOCIZ/A
H 3. A

0] 0 0O @)
(1) (2) (3) (4)

HO Cl Cl HO
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Benzene diazonium chloride on reaction with aniline in the presence of dilute hydrochloric acid gives :

@ ol

Aromatic Compounds
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Aromatic Compounds

Consider the following reaction :

CHs
N + CIN SO3:"Na 1yt
“CHs : A

The product 'X' is used :

(1) in laboratory test for phenols

(2) in protein estimation as an alternative to ninhydrin
(3) in acid base titration as an indicator

(4) as food grade colourant



Aromatic Compounds

In the following reaction sequence,
NH:z

Ac;O Br:
>A AEDHF B

CHs
the major product B is :

NH:z
AE}_'D Brg
@ >Ascon” B

CHs
NHCOCH: NHCOCH:3
OCHz3
(1) (2)
Br
CHs CHa

NHCOCH;s

CHs

Br

By
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Br

NHCOCHS;

CHzBr
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Which of these will produce the highest yield in Friedel Craft reaction ?

Aromatic Compounds

CONHz NH: ol
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The major product Z obtained in the following reaction scheme is

Aromatic Compounds

NH2
NaNQO:z + HCI » X CuzBrz Y HNO3 y7
Br 273-278 K H2S04
Br
NO2 Br NO2
02N
(1) (2) (3) Br Br (4) Br

Br Br Br NO: NO:
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Aromatic Compounds

Consider the following reactions,

(i) NaNO2/HCI, 0-5°C

i) B-naphthol/NaQOH
ol il » Colored Solid

(P]

Bra/Hz20

» C7HsNBrs
The compound [P] is:

NH; MNHCH;

NH: NH:
CH;
(1 @ @ []j’ ) Q @ @
CHa CH

3
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The major product of the following reaction is:

Aromatic Compounds

OH
CH
Conc.HNO: + Conc.Hz504 ._
MNO2

(1) (2)

Oz MNO:

OH
CHa OH

5 " CHs
3) s (4)

NO:2 O:zN NO:
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Three isomers A, B and C (mol. formula CsH11N) give the following results:
R (Product of A)
I

Aromatic Compounds

Aand C Diazotization P (iy hydrolysis

&,

(i) oxidation g (Pr oduct of C)
(KMnO, +H")

R has lower boiling point than S
B —=6M8502C1 . gikali-insoluble product A, B and C, respectively are:

CH2NH; @/NHz

CHs CH2CHs
CHzNHCH3 NH;

: CH2CH3
NH:2
CH=2CHs NHCH2CH3 NH-
0 SO @
HzN

CHzCHs

NH- CHz2NHCHs CH2CHs
- @E ' " HoN
CH2CHs ?

NH:
(1)

@

CH2CHs

CH2CH3
(2)

Q9
&

9
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Aromatic Compounds

In the following reaction sequence, [C] is :

NH:z

. 5 - .
() NaNO +HCI, 0-5°C [A] Cly [B] Na+dry ether [C]
(ii) CusCls +HCI hv (Major Product )

CH:
(1) CI—@—GH;-@GHE—Q (2) CH;CH:;
3) ?HE_<0>'<O>"?HE @ c @—cm—cm—@—cu
Cl Cl
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In the following reaction sequence the major product A and B are :

anhydrc-us 1 Zn—Hg/HCI »B
AIClz 2 H;PO,
O
CO:H I CO:H
O

O 8]
SOOI OPESOe
COH I COH

Aromatic Compounds
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Aromatic Compounds

The final major product of the following reaction is :

Me (i) Ac20/Pyridine
.-
(ii) Brz, FeCls
g, (i) OH/A
Br
Me Me Me Br Me
(1) (2) Br (3) (4) Br

NHE NHE NHE NHE
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Which of the following compounds can be prepared in good yield by Gabriel phthalimide synthesis?

Aromatic Compounds

O

CHz—C-NH:
(1) ©/ (2)

(3) CHs—CH>—NHCH; (4)

NH:2

CHzNH:
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Aromatic Compounds

The correct match between Item — | (starting material) and Iltem-Il (reagent) for the preparation of
benzaldehyde is:
Item-| Item-ll
(1) Benzene (P) HCI and SnClz, H:O+
(1) Benzonitrile (Q) Hz, Pd-BaS0s,S and quinoline
(1) Benzoyl Chloride (R) Co, HCI and AICl3

(1) (N=(R), (1)-(Q) and (I11)-(P) (2) (N-(Q), (I1)-(R) and (lI1)-(P)
(3) (-(P), (I)-(Q) and (II-(R) (4) (I-(R), (I-(P) and (I11)-(Q)
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A solution of phenol in chloroform when treated with aqueous NaOH gives compound P as a major
product. The mass percentage of carbon in P is . (to the nearest integer)
(Atomicmass: C=12; H=1; O = 16)

Aromatic Compounds
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In the following reaction the reason why meta-nitro product also formed is:

Aromatic Compounds

MNH:z NH: MNH2z NH2
NO:2
Conc. HNOs " b +
Conc. Hz2504, 288 K
MNO:2

NO2z

[A] [B] [C]
51% AT7% 2%

(1) =NHz group is highly meta-directive

(2) low temperature

(3) —NO: substitution always takes place at meta-position
(4) Formation of anilinium ion
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Which of the following compound gives pink colour on reaction with phthalic anhydride in conc. H2SO4
followed by treatment with NaOH *?

CHs CHs
(1) @:\/ @ /@/\/
OH HO
HO CHs HaC CHs
@) @) j@v
HO Hs HO OH

Aromatic Compounds
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Aromatic Compounds

‘A’ and ‘B’ in the following reactions are :

NH:2

NaNO, /HCI () SnGI/HCIHO
KCN

> (B)

NECJ

(1 (A):

Q) w@ =
NEC' CHO
(3) (A): @ @ ®): @

(9)2 (9

O3
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The correct order of the following compounds showing increasing tendency towards nucleophilic
substitution reaction is :

$ 9 o "9

NO:z
11

(U(I}"‘[“} (iii) < {W) (2) (iv) < (iii) < (i) < (i) (3) (iv) < (i) < (ii) < (i) (4}(“') () < (i) < (ii)

Aromatic Compounds
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The diazonium salt of which of the following compounds will form a coloured dye on reaction with [3-
Naphthol in NaOH ?

Aromatic Compounds

CHzNHz NH-CHs

[|3H3
NHz N—-CHs
(1) @/ (2) ©/ (3) @/ (4) @/
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1.86 g of aniline completely reacts to form acetanilide. 10% of the product is lost durina purification.
Amount of acetanilide obtained after purification (ing)is ......... x 1072,

Aromatic Compounds



Aromatic Compounds

The major product of the following reaction is :

@)‘i/

H,SO,

NO,
NO.
(1) (2)

By
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The correct sequence of reagents used in the preparation of 4-bromo-2-nitroethylbenzene :

Aromatic Compounds

) HNO3/H2S04, Brz/AICls, CHzCOCI/AICI3, Zn-Hg/HCI
) Br2/AlBr3, CHzCOCI/AICI3, HNO3/H2504, Zn/HCI
) CHsCOCI/AICI3, Zn-Hg/HCI, Brz/AIBrz, HNO3/H2504
) CHsCOCI/AICI3, Br2/AlBrs, HNO3/H2504, Zn/HCI
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|dentify the major products A and B respectively in the following reaction of phenol:

Aromatic Compounds

OH

i)CHCIs,NaOH Br2in CS
1{I) 3,INd rzin 2 h@

(i) H:O# 273 K

OH OH CHO OH

Br
(1) and (2) and
CHO Br CHO
OH I OH OH

O
CHO Br CHO
(3) and (4) and

Br
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An amine on reaction with benzenesulphonyl chloride produces a compound insoluble in alkaline solution.
This amine can be prepared by ammonolysis of ethyl chloride. The correct structure of amines is :

Aromatic Compounds

H
|
(1) CHaCHzCHzNHCH3 (2) CH3CHzCHzN-CHzCH3

NH-CH2CHzCHa
(3) CH3CHzNH; (4) @/
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Given below are two statements:

Statement-l : o-Nitrophenol is steam volatile due in intramolecular hydrogen bonding.
Statement-ll : o-Nitrophenol has high melting due to hydrogen bonding.

(1) Both Statement | and Statement Il are true  (2) Statement | is false but Statement Il is true
(3) Statement | is true but Statement Il is false  (4) Both Statement | and Statement Il are false

Aromatic Compounds



Aromatic Compounds

Match List-l with List-ll.
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List-l List-ll
Cl
Nz*CI : .
(a) O/ CuxCly & N (i) | Wurtz reaction
Cl
N2*CI
(b) O/ : CuHOl +No (il) | Sandmeyer reaction
(c) | 2CH3CH:CI + 2Na —=""_, C,Hs—CzHs + 2NaCl | (iii) | Fittig reaction
(d) | 2CeHsCl + 2Na —E"M®"_, CgHs—CeHs + 2NaCl (iv) | Gatterman reaction

Choose the correct answer from the options given below:
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Which of the following reaction DOES NOT involve Hoffmann bromamide degradation ?

Aromatic Compounds

O
CHz—g—NHz CHz—NH2

{1] ©/ Br;, MaOH i U
NH2z
{2] (i) KOH, HO
(i) Bry, NaOH
O
Hz
(3) | (i) NH,, NaOH _
(i) Bry, NaOH

7
CHz—NH:z

CHz—C- CHs (i) Br,, NaOH/H'
(4) ©/ (it) NHy / A ; O/
(ii) LiAIH, /H,0
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Aromatic Compounds

NH:2
OH

“A"
NENGE.HC| » uxn el
2T3=-2T8B K

Major Product
In the above chemical reaction, intermediate “X" and reagent/condition A" are :

NH:2 NH2
(1) X - ; A — H,O/NaOH (2) X — : A — H20/A
N2CI- N>CI-

(3) X - ; A — H0/ A (4) X — : A — H20/NaOH
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Aromatic Compounds

Which of the following reaction is an example of ammonolysis ?

(1) CeHsCHCN —IHl_, CgHsCH2NH: (2) CsHsCH2Cl + NH; —— CgHsCHa2NH:2
(3) CeHsCOCI + CsHsNHz —» CsHsCONHCesHs (4) CeHsNHz — P, ¢ H. N H;CI™



Aromatic Compounds

OCHs
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C,H,N,OCl +CzH50H—}© + Nz + "X" +"Y"
{A)

In the above reaction, the structural formula of (A), "X" and "Y" respectively are:

Nz*Cl-
0

(1) . CHs—C—H, HCI

OCHs

Nz2*Cl-

4 H

3 ]
©) H: o :H 1

OCHa

Nz*OCHa
H H
(2) , >\_\ 7<
H 07 My , HCI
Cl
N2*OCHs3
0

(4)

Cl
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Aromatic Compounds

HaC\N/CHa
NH:
NaNOz,HCI
273K-278K o -t o
; Major Product Major Product

Products X & Y are respectively?

Nz#CI®

N
= N CHa
B OV ol OO
N/CHa \CHS
(l'}Hs

S 4 d

/CHS {}© an

N

N
™
o) = CY S
\CHs N

N2*CI°

-
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A reaction of 0.1 mole of Benzylamine with bromomethane gave 23 g of Benzyl trimethyl ammonium
bromide. The number of moles of bromomethane consumed in this reaction are n x 10", when n =
................ (Round off to the Nearest Integer.)

[Given: Atomic masses: C: 12.0u, H: 1.0 u, N: 14.0 u, Br : 80.0 u]

Aromatic Compounds
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An organic compound "A" on treatment with benzene sulphonyl chloride gives compound B. B is soluble
in in dil. NaOH solution. Compound A is:

Aromatic Compounds

(1) CeHs— N — (CHa)2  (2) CeHs— CH2NH CH3 (3) CeHs—CH-NH: (4) CeHs — NHCHzCHs

CHs
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Aromatic Compounds

NH:z
NH: NH:z NH:
HNO 3,HoNO 4 e g "
288 K NO2
(A) (B) NO>
(C)

Consider the given reaction, percentage yield of :

(1)C>B>A (2)B>C>A (3)A>C>B (4)C>A>B
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COOH COOH

FeBry

+ Brz + HBr

Br
Consider the above reaction where 6.1 g of Benzoic acid used to get 7.8 g of m-bromo benzoic acid. The
percentage yield of the product is
(Round off to the Nearest Integer).
[Given : Atomicmasses : C: 120 u, H: 1.0, 0 :16.0 u, Br: 80.0 u ]
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Compound A is converted to B on reaction with CHCIs and KOH. The compound B is toxic and can be
decomposed by C. A, B and C respectively are :

(1) Primary amine, isonitrile compound, conc. HCI

(2) Secondary amine, nitrile compound, conc. NaOH

(3) Primary amine, nitrile compound, conc. HCI

(4) Secondary amine, isonitrile compound, conc. NaOH

Aromatic Compounds



By
Sinha Sir, Kota

Aromatic Compounds

KDBr L|AIH4 B
{majnr prc-d uct) (major product)

In the above reactions, product A and product B respectwely are:
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Aromatic Compounds

NHE .-"""EHE
NH
A O
{majorproduct) 573 K P (majorproduct)
S0zH

Consider the above reaction, compound B is :
CHs

/ /CHa
(1}©—N=NON 2) HDsS—QN=NQN
N\CHs N\CHs
CHs

CHs

7
N
7 \CHB
(3) HDaSN (4) HDaS—@—N =N
\CHs
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An organic compound A(CsHsO) gives dark green colouration with ferric chloride. On treatment with
CHCIs. and KOH followed by acidification gives compound B. Compound B can also be obtained from
compound C on reaction with pyridinium chlorochromate (PCC).

Identify A, B and C.

Aromatic Compounds

CH20H OH OH
OH CHO
(1) A= B = C=
OH CHz20H OH
OH CHO
(2) A= B = C=
OH OH
OH CHO CH20H
(3) A= B = C=
HO CH20H OH
CHO OH
(4) A= B = C=
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ﬁzCl'

HzCHs
+ A+ H.O0 — @ B, Anhyd.AIClI; .

Major Product

In the chemical reaction given above A & B respectively are:
(1) H:POzand CH3CH:CI (2) CH3CH:CIl and HsPO:
(3) H:POzand CH3CHz0OH (4) CH3CHz0OH and HsPO:

Aromatic Compounds
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Given below are two statements, one is labelled as Assertion (A) and other is labelled as Reason (R).
Assertion (A) : Gabriel phthalimide synthesis cannot be used to prepare aromatic primary amines.
Reason (R) : Aryl halides do not undergo nucleophilic substitution reaction.

In the light of the above statements, choose the correct answer from the options given below:

(1) (A)is true but (R) is false

(2) (A)is false but (R) is true

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(4) Both (A) and (R) are true but (R) is correct explanation of (A)

Aromatic Compounds
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Which one of the products of the following reactions does not react with Hinsberg reagent to from
sulphonamide :

Aromatic Compounds

CN CN
, HsO®
(1) + SnClz + HCl ——» (2) + LiAlHs ——»
CHO
CN CN
C2HsOH
(3) +Hz /Ni —» (4) +NaHg =2—=—"_»

CHs
NO2z
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Aromatic Compounds

O—Q

MEIJDI' Product
The given reaction can occur in the presence of :
(a) Bromine water (b) Brzin CSz, 273 K (c) Brz/FeBrs  (d) Brz in CHCl3, 273 K
(1) (a), (b) and (d) only (2) (b) and (d) only
(3) (b), (c) and (d) only (4) (a) and (c) only
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Aromatic Compounds

What is the major product "P" of the following reaction?

CH, (i) NaNO,, HCl, 278 K _ .
NH, (i) HO (major product)
@NEGG{Z} @0}1 @ &
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Aromatic Compounds

CEHENGE Sn + HCI y "A” CeH:M-Cl : =
H° (Yellow coloured
compound)

Consider the above reaction, the Product “FP’ is:
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The correct sequence of correct reagents for the following transformation is :

Aromatic Compounds

NO:2 Sk
-—a :'.
Cl
(1) (i) Fe, HCI (ii) NaNO2/HCI, 0°C (iii) HzO/H" (iv) Clz, FeCls
(2) (i) Clz, FeCls (il) NaNO2z/HCI, 0°C (iii) Fe, HCI (iv) Hz20/H*
(3) (i) Fe, HCI (i) Clz, HCI (iii) NaNO2/HCI, 0°C (iv) H20/H*
(4) (i) Clz, FeCls (i) Fe, HCI (iif) NaNOz/HCI, 0°C (iv) H20/H"
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Aromatic Compounds

What is A in the following reaction?

NEK®
CH:zBr
A

» (Major Product)

(ii) “GH!HE{]

CH2NH:

@ oy
CH:20H

(4) @/
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The correct options for the products A and B of the following reactions are :

Aromatic Compounds

OH

A < Br, (Excess) Br, B
H.O CS5,, <5°C

OH < OH OH OH
" Br. Br
(1A= . B= (2) A= . B =
Br
Br Br Br
OH OH OH OH
Br Br Br Br Br

(3)A= B= (4) A= B=

Br Br Br Br
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Which one of the following phenols does not give colour when condensed with phthalic anhydride in
presence of conc. H2S04?

OH OH OH
OH OH
(1) (2) (3) (4) ©/
OH
CHs

Aromatic Compounds



Aromatic Compounds
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The correct structures of A and B formed in the following reactions are :

o o O
H2/Pd
2 > A )'I\D)I\ ”
CzHsOH (1.0eq.)  (Major Product)
NO:
L
OH OH O OH o CHs
(1)A:© B@/u\d_h {2}A:©
NH: NO, NH: NH:
0 0
G)J\CHE, .D)J\CH3 OH OH
(3)A: ,B@ (4}A:©
NH: NH NH

YCHS NH:z

O

YCHS
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The structures of A and B formed in the following reaction are: [Ph=—CgHs]

AICls(2eq)  , ZnHg -
HOT T

Aromatic Compounds

(1) A= B='““m
0
Ph
(2) A= \g/\-)kDH18=P“WDH
O 0
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Aromatic Compounds

Identify correct A, B and C in reaction sequence given below :

conc.HNO3
+
conc.H2804 Clz Fe/HCI
A »C
A Anhyd. AIClz
NO- NO:2 NO2
(1) A= B = Q C=
I H
NO NH
N ~NO:z = :
(2) A= | B = C=
N Cl Cl
_A~_-NO; NO:2 Cl
@ A= [ ] B = C=
NN
I H
NO> NO: Cl Cl NH.
e il ¢ S e
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Which one of the following gives the most stable Diazonium salt?

Aromatic Compounds

MNH: {*|-"'H3
(1) /©/ (2) CH3—C—-NH:2
CH3 |li

NHCH:
(3) CH3—~CH2—CHz—NH: (4) ©/



